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REASONING )

. In a certain code 'TEAM-

WORK' is written as 'NB-
FUJQNV' and 'SOME' is writ-
ten as PTDL. How is 'PER-
SON' written in that code?
(1) QDOOPT

(2] QDOMNE

(3) SFGMNR

(4) SFQOPT

(5) None of these

. How many such pairs of let-

ters are there in the word
"SUBSTANCE' each of which
has as many letters between
them in the word (in both for-
ward and backward directions)
as in the English alphabet ?
(1) None (2) One

(3) Two (4) Three

[5) More than three

» How many meaningful En-

glish words, not ending with
‘D' can be made with the
third, the fifth, the seventh
and the ninth letters of the
word ‘STEADFAST" using
each letter only once in each
word? (All letters are counted
from left to right)

(1) None (2) One

(3) Two (4) Three

[5) More than three

. In a certain code ‘BASKET is

written as '583%#1' and
TRIED' is written as * 14+ #2",
How is ‘SKIRT written in that
code?

(1) 3%h%k41
(2) 340041
(3) 3%#41
(4) 3#4%1
[5) None of these

» The positions of the first and

the fifth digits of the number
81943275 are interchanged.
Similarly the positions of the

second and the sixth digits |

are interchanged and so on till

the fourth and the eighth dig-

its. Which of the following |

will be the third digit from the

right end after the rearrange-

ment?

(1)1 (2)9

(3) 2 (4) 4

(5) None of these

Directions (6 - 10) : Study the
following arrangement carefully and
answer the questions given below :

M3#RATIEJSK@FUS

AVIGODEX*HNTEZW

6. Four of the following five are
alike in a certain way based
on their positions in the above
arrangement and so form a
group. Which is the one that
does not belong to that

group?

(1) TER (2) Us@
(3) 6DV @J1K
(5) N8 *

7. How many such numbers are
there in the above arrange-
ment, each of which is imme-
diately preceded by a letter but
not immediately followed by
a letter?

(1) None (2] One
(3) Two (4) Three
(5) More than three

8. What should come in place of
the question mark (?) in the
following series based on the
above arrangement?

RT1 S@F 416 7
(1)8*xH
(2)8HN
B8HT
(4)D* H
(5) None of these
9. How many such symbols are

there in the above arrange-

ment, each of which is imme-
diately preceded by a number
and immediately followed by

a lefter?
(1) None (2] One
[3) Two (4) Three

[3) Maore than three

10. Which of the following is the
seventh to the left of the
twentieth from theleft end of
the above arrangement ?

(v 2)@

(8).6 (4)©

(5} Mane of these

Directions (11 - 15) : Each
of the questions below consists of
d question and two statements
numbered I and I given below i.
You have to decide whether the data
provided in the statements are suf-
ficient to answer the question. Read
both the statements and—

Give answer (1) if the data in
statement I alone are sufficient to
answer the question, while the data
in statement 11 alone are not suffi-
cient to answer the question.

Give answer (2] if the data in
statement II alone are sufficient to
answer the question. while the data
in statement 1 alone are not suffi-
cient to answer the question.

Give answer (3) if the data
either in statement I alone or in
statement II alone are sufficient to
answer the question.

Give answer (4) if the data
given in both the statements [ and
Il together are not sufficient to an-
swer the question, and

Give answer (5) if the data in
both the statements | and Il together
are necessary to answer the ques-
tion.

11. Among M, P, T, Rand W each
being of a different age, who
is the youngest?
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I. T is younger than only P
and W.

II. M is younger than T and
older than R.

How is ‘gone’ written in a code

language?

I ‘you will be gone’ is writ-
ten as ‘ka pa ni sa’ in that
code language.

II. 'he will be there” is written
as ‘ja da ka ni’ in that code
language.

On which day of the week

[starting from Monday and

ending on Sunday of the same

week) did Sushant visit Chen-
nai?

I. Sushant visited Chennai
two days afler his brother
visited Chennai

II. Sushant did not visit
Chennai  either on
Wednesday or on Friday.

Towards which direction is P

with respect to the starting

point?

I. Pwalked 20 metres, took a
right turn and walked 30
metres, again took right
turn and walked 20 metres
towards West.

II. Pwalked 30 metres, took a
left turn and walked 20
melres; again took left turn
and walked 30 metres to-
wards East,

15. How is K related to Z 7
I. Z and P are the only sis-
tersel D.
1. s mother is wife of K's
< father.

Directions (16 - 20] : In the
following questions, the symbols @,
S, #, @ and % are used with the fol-
lowing meaning as illustrated be-
Towe :

12,

13.

14.

‘P 8 Q" means ‘P is not small-
er than Q.'

‘P @ Q means 'P is neither
greater than nor equal to Q.

‘P # @ means ‘P is neither
smaller than nor equal to @'

‘P % Q' means 'P iz not great-
er than Q.

‘P @ Q" means P is neither
greater than nor smaller than Q.
Now in each of the following
questions assurning the given state-
ments to be true, find which of the
four conclusions L. 11, Il and IV giv-
en below them is/are definitely
trae and give your answer accord-
ingly.
16. Statements :
R#J JSDD@K K%T
Conclusions: [ T#D
. T&D
LR # K
N.JST
(1) Only either | or 11 is true
(2) Only I is true
(3) Only I1l and [V are true
(4) Onlv either 1 or 11 and I
are true
(3) None of these
Statements :
TR RSMAMAD. DDH
Conclusions: |. D R
N.H=R
M.TzIM
T D
(1).0nly 1 is true
[2) Only I and IV are true
3) Only | and [I are true
(4] Only Il and [V are true
(5] None of these
Statements :
MEB.BEN NSR ROK
Conclusions: |. K# B
nREB
NMMSsE
W.N&M
(1) Only I and NI are true
(2) Only I and IT are true
{3) Only Il and IV are true
(4) Only 11, IIT and IV are true
(5) None of these
Statements :
FEHHaMMOEESJ
Conclusions : . J©M
IN.E&#H
MmMaF
W.FRE
{1) Only I and Il are true
{2) Only Il and 111 are true
(3) Only I, Il and IIT are true
{4) Only 1, Il and IV are true
(5] Mone of these

17.

18.

19.

20. Statements :
DWAABB BOK K%M
Conclusions: |. B5D

II. K#A
lI.M# B
NADM
(1) Only L, Il and IV are true
(2) Only I, II and III are true
(3) Only 11, 11l and ¥ are true
(4) Only I,_IIl and TV are true
(5) all 1, IT, 1l and IV are true
Directions (21 - 25) : Study
the lollowinginformation carefully
and answer the given questions :

A word and number arrange-
ment machine when given an
input line of words and num-
bers rearranges them follow-
ing a particular rule in each
step. The following is an illus-
tration of input and rear-
rangement. (All the numbers
given in the arrangement are
two digit numbers).

Input : gone over 35 69 lest 72
i park 27
| Step [ : 27 gone over 35 69 test 72
! park
i Step Il : 27 test gone over 35 69 72
| park
| Step 11 : 27 test 35 gone over 69 72
park
Step [V @ 27 test 35 park gone over
69 T2
StepV : 27 test 35 park 69 gone
over 72
Step V1 : 27 test 35 park 69 over
gone 72
Step VII: 27 test 35 park 69 over 72
gone

and Step VII is the last step
of the rearrangement of the
above input as the desired ar-
rangement is oblained.

As per the rules followed in
the above steps. find out in
each of the following ques-
tions the appropriate step for
the given inpul.

Input : 86 open shut door 31
49 always 45

How many steps will be re-
quired to complete the rear-
rangement?

21.
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(1) Five [2) Six
(3] Seven 4) Four
(5) None of these
Step I of an input: 25 yes 37
enermy joy defeat 52 46
Which of the lollowing is del-
initely the input?
i1) enemy 25 joy defeat yes 52
3746
(2) 37 enemy 25 joy yes deleal
52 46
(3) enemy joy defeat 25 52 yes
4637
(4) Cannot be determined
(5) Mone of these
23. Stepllof an Input : 18win 71
34 now if victory 61
How many more steps will be
required to complete the re-
arrangement?
(1) Three
(2) Four
(3) Five
(4] Six
{5) More than six
24. Input : where 47 59 12 are
they going 39
Which of the following steps
will be the last but one?
(1 vi (2) v
B3V (4) VIII
[5) None of these

N

25

81 75 full of goods 52
Which of the I‘nlluwinm;ﬂtﬂe
step V17?7
(1)33 store 52 of 75 B1 full
goods
(2) 33 store 52 of 75 full 81
goods,
(3) 3@'stare 52 of 75 goods 81
fi-]'ﬂ{ere will be nio such step
(5) None of these
Directions (26-30) : Study the
following information carefully and
answer the questions given below :
Following are the conditions
for selecting Manager-HR in an or-
ganisation :
The candidate must —
(1] be at least 30 years and
not more than 35 years as
on 01.03.2012.

Step 11 of an input: 33 store’

(ii) have secured at least 60
percent marks in Gradua-
tion in any discipline.

(iiijhave secured at least 65
percent marks in the Post
Graduate Degree/ Diplo-
ma in Personnel Manage-
ment/HR.

(iv) have post qualification
work experience of at least
five years in the Person-
nel/ HR Department of an
organisation

v} have secured at least 50
percent marks in the se-
lection process,

In the case of a candidate who

satisfies all the above condi-

tions except-

(a) at (if) above, but has se®
cured at least 55 permrﬂ
marks in Gradualiﬁn in
any discipline anﬂ aﬂeaat

G*raduatuﬂ@gtg' ,a"aﬂlpluma
in Persnnm:l Manage-
ment/HRE, the case is to be
referred to GM - HR.
[b}@b{ﬁﬂ above, but has post
_qualification work experi-
' gnce of at least four years
: out of which at least two
years as Deputy Manager—
HR. the case is to be re-
ferred to President - HR.
In each question below are
given details of one candidate.
You have to take one of the
following courses of actions
hased on the information pro-
vided and the conditions and
sub-conditions given above
and mark the number of that
course of action as your an-
swer. You are not to assume
anything other than the in-
formation provided in each
question. All these cases are
given Lo you as on 01.03.2012.
Mark answer (1) if the can-
didate is not to be selected
Mark answer (2] if the data
provided are not adequate to take a
decision.
Mark answer (3] if the case
is to be referred to President-HR

Mark answer (4) il the case
is to be referred to GM-HR

Mark answer (3) if the can-
-didate is to be sclected

28. Rita Bhatt was born on 25th
July 1978. She has secured 62
per cent marks in Graduation
and B5 per cent marks in Post
Graduate Diploma in Manage-
ment. She has been working
for the past six¥ears in the
Personnel qum}tmtnt of an
organisation after completing
her Post Graduation. She has
securgd 55 per cent marks in
the seleation process.

27. ﬁshe;:ﬁ?:ﬂhan was born on
| 8th August 1980. He has been
“working in the Personnel De-
partment of an organisation
for the past four years after
completing his Post Graduate
Degree in Personnel Manage-
ment with 67 pereent. Out of
his entire experience, he has
been working for the past two
years as Deputy Manager-HR.
He has secured 62 percent
marks in Graduation and 58
per cent marks in the selec-
tion process.

28. Alok Verma was born on 4th
March 1976. He has been
working in the Personnel De-
partment of an organisation
for the pastl six years after
completing his Post Graduate
Diploma in Personnel Man-
agement with 86 per cenl
marks. He has secured 57 per
cent marks in the selection
process and 63 per cent marks
in Graduation.

29, Swapan Ghosh has been
working in the Personnel De-
partment of an organisation
for the past five years after
completing his Post Graduate
Degree in HR with 72 per cent
marks. He has secured 56 per
cent marks in Graduation. He
was born on 12th May 1977,
He has secured 58 per cent
marks in the selection pro-
CE55.

30. Seema Behl has been working
in the Personnel Department

of an organisation for the past
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seven years after completing
her Post Graduate Diploma in
Personnel Management with
70 per cent marks. She was
born on 5th July 1979, She
has secured 65 per cent marks
in Graduation and 50 per cent
marks in the selection pro-
eSS,

Directions (31 - 35) : Study
the following information carefully
and answer the questions given be-
low :

A.B.C,D,E, F, Gand H are
eight friends travelling in three dif-
ferent cars, viz. X, ¥ and Z with
at least two in one car to three dif-
ferent places, viz. Delhi, Chandi-
garh and Agra.

There is at least one female
member in each car. D is travelling
with G to Delhi but not in car Y. A
is travelling with only H in car 2
but not te Chandigarh. C is not
travelling with either D or E, F and
D are studying in the same only
girls’ college. H, B and G are study-
ing in the same only boys' college.

31. Which of the following repre-
sents the group of females
among them?

(L1F,. C. A

2 F.G, A

(3 D.C A

(4) Data inadequate |/

(5) None of these

32. Which of the fcllwmg__':hfh-
binations is correet? . -
(1) Delhi - X ~ @

(5) Nome of these
In which car are four of them
travelling ?

(1) Xor Z 21y
(M XorY 4 Z
(5) None of these
34. Inwhich of the following cars
is C travelling?
(11 X
2y
(3 Z
(4] Either X or Y
(5] Data inadeguate

35, Passengers in which car are
travelling to Chandigarh ?
my
2 X
(3) Either X or ¥
(4) Data inadequate
(5) None of these
Directions (36 - 40) : In each

of the questions below is given a
statement. followed by a guestion.
Read the statement carefully and
answer the guestion that follows.

36. Statement : The State Gov-
ernment granted special sta-
tus to the seminar on the im-
portance of protecting the en-
vironment around us organ-
ised by the local academic
body to create awareness
among the citizens.

Which of the following may be

a probable reason for tile

State Government's degision?

{1) The Central ﬁpvﬂmmcnl
has accorded highest pri-
ority tums related Lo
pmu:nﬂm of environment,
over,all other issues.

(2) ICkhe past the State Gov-
cmment had granted spe-
‘plal status to such semi-

. nars

{3) The State Government has

failed to implement mea-
sures for protecting the
environment

(4) The local academic bady

made a fervent appeal for
the special status

(5) None of these

. Statement : Mos{ car manu-
facturers have marginally re-
duced the price of their prod-
ucts despite higher input
costs and increased Govern-
ment duties and have prom-
ised to keep the prices at the
present level for at least the
next couple of months.

Which of the following can be

a best possible reason for the

above step by car manufactur-

ers?

(1) Car manufacturers have

not been able to meet their
sales target for the current

year so far,

(2) The Government is plan-
ning to review taxes on the
raw materials for manufac-
luring cars.

(3] The car sales market is go-
ing through a jubilant
phase as the volume of
sales has picked up consid-
erably in the recent past
and profit peecarhas also
gone up.

(4) Car bwm are still hesi-
tant tg rma.ke their pur-
chases dnd may postpone

Jor another few months.

{Sle} marketing companies

are contemplating review-
" ing the petrol and diesel

prices in order to decide

future market prices.

Statement : The prices of veg-

etables and other lood articles

have decreased in the recent
manths raising hope among
policy planners that the RBI's

(Reserve Bank of India) tight

grip on supply of liguid mon-

ey in the market for control-
ling inflation may be eased.

Which of the [ollowing may be

a possible action of the above

situation?

{1) The Reserve Bank of India
may not reduce its key in-
terest rates in near future,

(2) The Government may step
in and make certain con-
cessions to the common
people on various issues

[3) The Reserve Bank of India
may consider lowering cer-
tain rates to bring in more
liquidity in the market.

(4] The RBI may wait for at
least another vear before
taking any step.

(5) The RBI may collect more
data from the market and
watl lor another four
months te ensure they
take the correct step.

Statement : A severe cyclon-

ie storm hit the Eastern

coastline last month result-
ing in huge loss of life and
property on the enlire east
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coast and the Government (4) Majority of those suffering from central nervous system related
had to dishurse a considerable diseases are middle aged.

amount for reliel activities (5) Many of those who suffer from diabetes also suffer from other
through the district adminjs- major ailments.

tration machineries. Directions (41-50) : In each of the questions given below which

Which of the following may | gne of the five answer figures on the right should come after the problem
possibly be a follow up mea- | fg,res on the left, if the sequence were continued ?

sure to be taken up by the Problem Figures Answer Figures

Government?

[ljﬁeﬂuu'emmentma}:dset ExBNOJRRABAR[z xT| [ROs[zA TROT|IHAFIDOF
UPEMSI”WEE[DM&W 4lJo  alk xja olkx ajo Al ¢ Kk xjc Kk x|¢ *
the post reliel scenario in K =ol=aviHxElPoxle xal [xaczloec Alxaalocelxas
all districts and also to @ B @ 6
confirm proper end user
receipt of the relief sup- N B e e = B L R G
plies. azl=cBl=aBlK x=jk O ={a8 K| |O0= AlA K S|A S Kbks AABK

(2) The Government may set ksokoclaeclac xoc x| [acxoBxloxBlkBOl=0
up a committee for proper W @ @ @ ®
disbursement of reliel sup-
plies in future. FsTRTFPr FaF e 4| Fr At AR P #T F *[0 # A

(3} The Governmenl may em- a3, R Pls =] *H TP ORI s|x 5 M '8
power the District Magis- tatRe et sl s T lPitrl TsnTisntirfel
trates to make all future m @ @ 4 6
disbursements of relief.

(4} The Government may serd 3] [+] o
relief supplies to the affect- | 4. | / l — | Pk S — |— |/ | = P
ed people in future only o ol [#]
after proper assessment of m @ & W &
the damage caused by such
o SRR R R SR N S R R

[3) The Government may not ﬁ.1~ﬂ1¢u1~ R o 3
need to activate any follow A Y 4 Y L L A

up measure. (i @ [ W (&
40, Statement : [t has been re-

s =—®l=#:]] =5l= :alR = &| [OF =5 R =|F = &]= A0l= A
ported in & reoent SYRRTRAY | o) 3 Als 7 dla v ofr Rl s s |:
milk chocolate réduces the TAOARORO=0 owje 7] UT @ T Jjg STI@*TIx ST

(1 (2

risk of sufféring from central
nervous system related ill-

v o owsng wouta | 42- LT T{T LIS TILTTITAT {LOUTUTLTTHYATETTAT

weaken the findings of the
study reported in the above
statement?

(1) People generally prefer to | o e | 204 A “s‘ "* “* :%' §|&§{ %
eat chocolate when they are | 48| /N | %[ il - flat | el | 4

young, m @ @ @ @

(2) Majority of those not diag- i
nosed with diseases relat-
ed to central nervous sys- | o
tem have stayed away from
eating chocolates in their
lives,

(3) Chocolates contain certain x ¥ Z. i
elements which strength- | so, ! \ * A
en the functions of the cen- * Jg
tral nervous system

b ra %
- - W
o & %
—i [
oM om
w
o el e
o W R4
Bl .
@ W
E =
L I3
X =m0

W o
&= =%
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ENGLISH LANGUAGE

Directions (51-60) : In the
following passage there are blanks,
each of which has been numbered.
These numbers are printed below
the passage and against each, five
words are sugdested, one of which
fits the blank appropriately. Find
out the appropriate word in each
case.

[51] over the world, rights re-
lated to information technology that
are already legally recognised are
daily being violated, [§2] in the
name of economic advancement,
political stability or for personal
greed and interests. Violations of
these rights have (53] new problems
in human social systems, such as
the digital divide, cybercrime, digi-
tal security and privacy concemns,
all of which have [54) people’s lives
either directly or indirectly.

It is important that countries
come up with the guidelines for ac-
tion to (55) the incidences of mali-
cious attacks on the confidentiali-
ty. integrity and availability of elec-
tronic data and systems, computer
related crimes, content related of-
fenses and violations of intellectu-
al property rights. [58). threats to
critical infrastructure and nation-
al interests arising from the use of.
the internet for criminal and ter-
rorist activities are of growing [B7).
The harm incurred to businesses,
governments and individuals in
those countries in which the inter-
net is used (58), is gaining in (59)
and importance, while in other
countries: cybererime threatens the
application of infermation and com-
munication technology for govern-
ment services, health care, trade,
and banking. As users start losing
[60] in online transactions and
business, the opportunity costs may
become substantial.

51. (1) Entire
(2] Lot
[3) Great
(4] Al
(5) Much
(1) scarcely
(3) and
{5) hardly

52. (2) whether

(4) for

53. (1) created (2} bent
(3) pressured (4) risen
(5) stopped

54. (1) distanced (2) affected
[3) exaggerated
(4) advanced (3) cropped

55. (1) engage (2) conflict
(3) war (4} combat
(3] struggle

56. (1) But (2] More
(3] Addition (4] Beside
(5} Further

57. (1) concern (2 nature
(3) pattern (4) important
(5) matter

58. (1) really (2) figuratively
(3) widely (4) never
(5) tandem

59. (1) fear (2) days
[3) positivity (4] width
(5) scope

80. (1) tracks (2) measure -
(3) confidence (4) mind
(5) grip

Directions (61 = 65) : Rear-
range the following six seritences (A),
(B). (C). (D), (E) and {F) fn the proper
sequence to form a meaningful para-
graph; then answer the questions
given below them.

(A} It is no wonder that a ma-

. jority of these excluded and
low-achievers come from
the most deprived sections
of society.

{BiThey are precisely those
who are supposed to be
empowered through educa-
tion.

(C)With heightened political
consciousness about the
plight of these to-be-em-
powered people, never in
the history of India has the
demand for inclusive edu-
cation been as fervent as
today.

{D|They either never enrol or

they drop out of schools at |

different stages during
these eight years.

(E)Of the nearly 200 million |
children in the age group |

between 6 and 14 years,
more than half do not
complete eight years of el-
ementary education.

(F} Of those who do complete
eight years of schooling,
the achievement levels of
a large percentage, in lan-
guage and mathematics, is
unacceptably low.

Which of the following should

be the THIRD sentence after

61

rearrangement?

(1} A (2) B
(3 C (4) D
(S F

Which of the following should
be the FIRST zentence after
remangeﬂ‘l&m_"f

(1) A ' (2) B

(3) C 4) D

(S)FE:

MWhich of the following should
be the SECOND sentence af-
ter rearrangement ?

(N F (2) E

(32 4)C

(5 B

. Whick of the following should
be the FOURTH sentence af-

8

ter rearrangement ?
(1A 21 B
(3 C 4] D
(5 E

65. Which of the lollowing should
be the FIFTH sentence after
rearrangernent?

(NF 2/ E

WD 4] B

(5] A

Directions (66-70) : In each
of the follewing senlences, an idi-
omatic expression or a proverb is
highlighted. Select the alternative
which best describes its use in the
sentence,

66. Facts spoke lounder than
words 21 the Company meet-
ing where the Director tried to
pa:n: a rosy picture of the
Company's financial health.
[1} Too many facts related to

the good financial health
of the Company were pre-
sented during the meeting.

[2) The Company was not do-
ing well financially despite
the Director saying other-
wise,

[3) The Director was very loud
while presenting the facts
about the Company's [i-
nancial health during the
meeting.
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{4) The facts stated in the | 70. Before starting work on our while {2}/ recounting h:s D=7
meeting supported the Di- new project, our mentor told sonal experience where an au-
rectors claims of good fi- us io not count our chick- torickshaw driver [3)/ made
nancial health of the Com- ens before they hatched. him to wait and also demand-
pany. (1} Our mentor warned us ed F100. (4)/ No error (5)

{5) The Company was doing against being over confi- | 76. The Company aims (1)/ to
exceptionally well finan- dent about achieving suc- nearly double (2]/ its revenues
cially, despite the Director cess. on the back (3)/ of a stron-
saying otherwise. (2] Our mentor asked us to gest product pipeline, {(4)/ No

67. By initiating the fight with meticulously count the error (5)

Sakshi in office, Kajal had chicken first and then the | 77. The woman that had {LL"' kid-

killed the goose that lay the eggs. napped a child hasnow (2)/

galden 6gg. (3) OQur mentor warned us been apprchcrﬁcd*and is be-

{l] B}' iﬂlﬂat'lng the ﬁght with H,gﬂj-ﬂﬁt bfing over-enthu- h..g [3}; hﬂld in Wdt}fﬂl jﬂ.ﬂ
Sakshi in office, Kajal had siastic in implementing (4)/ No error (3)
left her speechless. the project. 78. Rose gmwcrs in (1)/ the city

(2)Kajal had ruined her o 1 d us are waking up (2)/ to the ben-
chances of success by pick- (4] Our mentor warned u : A p e .
ing a fight with Sakshi in about all the challenges efits (3)/ of collective action.
office. that lay ahead of us. g {2), No error (5)

(3) Kajal had exacted her re- (5) Our mentor informed us | 79.70he Minister will have (1)/ a
venge by picking a fight about the prizes that we || tomgh task on his hands (2)/
with Sakshi in office. would get on succeeding. | where three different recom-

(4} Kajal had hurt Sakshi by Direction (71-85) : Read each. | mendations (3]/ for this year's
picking a fight with her in | sentence to find out whether there rate reach his desk. (4)/ No
office. is any grammatical error orudiom- error (5)

{5) By initiating the fight with | atic error init. The error, if any, will | 80. The current economic scenario
Sakshi in office, Kajal had | be in one part of the sentence. The {1}/ could possibly undo (2)/
missed getting the golden | number of that part is the answer. If the growth that followed (3)/
egg. there is ‘No error’, ﬂu: answer is (5). the economic liberalisation of

68. I let the chips fall where | (Ignore errorsof punctuation, if any). 1991. (4)/ No error (5)

they may and do not worry | 71. The third season of (1)/ the | 81. Inafirst ofits kind study, (1)/

too much about what [ want p-qglar television show will a team of scientists have tried

to do next. {3)/ on a grand note with to (2)/ "grow" new stem cells

(1) I take caleulated risks. tﬁ}.-f celebrities dancing and in {3}/ the ear that get dam-

(2) I let others do what they © having fun, (4)/ No error (3) age with age. (4)/ No error (5)
want and do not interfere; |72, The website, which does not | 82. If successful. the research

(3) | am clumsy. i (1)/ accept advertisements could (1)/ pave the way to-

(4) 1 do not try to control my and is funded (2)/ entirely by wards (2}/the prevention in
destiny. donations, describes itself untimely deaths (3)/ due to

(5) 1 prefcr chaos tq_cﬂ;hﬁ. [3)/ as the fifth most popular fatal flinesses, (4)/ No error (5)

69. After trying hard to gonvince website on the planet. (4)/ No | 83, The Ministry has directed

Narendra to ghange his ways, error (5) Banks (1)/ to do away with

Raman realised that a leop- | 25 ¢ sharing crime statistics for their (2)/ separate promotion

ard cannot uﬂ:ange its spots. (1)/ the year 2011, the Com- policies, a move 3}/ strongly

(1) Raman  realised that missioner admitted that (2)/ opposed by the officers’
Mrendi:ja Al TeVer there had been an undue de- unions. [4]/ No error (5)

{ﬁ}mi E{_:‘:ﬁze 4 that lay in (3)/ the setting up of | 84. After a complaint was filed,

an anti-narcotics cell, (4]/ No 1)/ police teams was given
Mapcrdrias it plesa. error (5) the photograph (2)/ of the
(3) Raman realised that he RS
74, The Moon may be the best accused from the CCTV foot-
was not good at convine-
ing others. place [1)/ to look for aliens as age (3)/ recorded at the hotel.

(4) Raman realised that their {2)/ footprints on their {41/ No error (5]

Narendra would change his surface would nsj_f last far | 85. Activists opposing the rail
ways son g ol /| o] e
o (i} 11

(5] ﬁm r:zl;sfz:;::t ;ﬂﬂr;ﬁ_ 75. The judge advised the govern- would practically ring (3]/ the

dra to act in a certain way. ment to [1)/ have melered au- death knell for the city. (4)/
torickshaws across the state No error (5]
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Directions [86-100) : Read
the following passage carefully and
answer the questions given below
it. Ceriain words /phrases have been
printed in bold to help you locate
them while answering some of the
questions.

In India. innovation is emerg-
ing as one of the most important
rubrics in the discourse on how to
bring about greater and more con-
sistent economic and social devel-
opment. One observes steadily
growing investments in R & D
across the country, the setting up
of national and state innovation
bodies, as well as the introduction
of government sponsored innovation
funds. There have also been several
conferences and debates on inno-
vation and how to best promote and
accomplish it in India, and a num-
ber of articles on the subject, writ-
ten for newspapers and magazines,
as well as more informal platforms
like online forums and blogs.

Academic engagement and In-
dian authorship on the subject have
also exploded in the last five years.
Despite widespread agreement on
the importance of innovation in
India. there are wide gulfs between
different conceptions of innovation
and the path India should take to-
wards securing benefits through
investments in innovation.

Many Indian conyersations
around innovation begin by talking
about jugead, that uniguely Indian
approach to a temporary fix when
something complex, like an auto-
mobile or a steam engine stops
working. However, many observers
have pointed out that while jugaad
is certainly innevative, it is a re-
sponse to the lack of an innova-
tion culture-more a survival or cop-
ing mechanism at a time of need
than a systematic methodology to
effectively address a wide-ranging,
complex set of problems.

Another specifically Indian
approach to innovation that has
entered inlo wide currency of late
is so-called 'frugal innovation,’
deemed by many to be the most ap-
propriate for the Indian conlext. In
its midterm assessment of the 11th

five-year plan, the Planning Com-
mission stressed the need for inno-
vation in India in order to ‘acceler-
ate its growth and to make growth
more inclusive as well as environ-
mentally sustainable." The docu-
ment went on to say that ‘India
needs more frugal innovation that
produces more frugal cost products
and services that are aflordable by
people at low levels of incomes with-
out compromising the salety, efli-
ciency, and utility of the products.
The country alse needs processes of
inrovation that are frugal in the
resources reguired to produce the
intiovations. The produets and pro-
cesses must also have frugal im-
pact on the earth's resources.’
Two people formulated a sim-
ilar theory called the More-from-
Less-for-More (MLM theory of Inna-
vation) theory of Innovation, which
advocates a focus on innovalions
that allow for more production us-

ing fewer resources but benefit more |
people. Under this rubsie come prod- |

ucts that are more affordable ver-
sions of existing technologies.
While both frugal innovation and
the MLM theory are certainly valu-
able in terms of bringing affordable
products and services to a greater
number of people, and may even be
considered a necessary first step on
india’s innovation path, they bare-
Iv graze the surface of what inno-
vation can accomplish, That is. in-
novation is capable of bringing

about compleie paradigm-shifis and |

redefining the way we perceive and
interact with the worid.

Take the cell phene, {or exam-
ple : it revolutionized communica-
tion in a previously inconceivable
way, provided consumers with a
product of unprecedented value and
created an entirely new market. The
cell phone was a resull of years of
directed, intentional innovation ef-
forts and large investments, and
would not have ever been created if
the people responsible simply set
out to make the existing telephone
cheaper and more aceessible o all.

While jugaad and frugal inng-
vation may be indicative of the In-
dian potential for innovativeness,

this potential is not utilised or giv-
en opportunity to flourish due to
the lack of an enabling culture.
India’s many diverse and com-
plex needs can be met only through
sysiematic innovation, and major
shifts have to first take place-in our
educational institutions, govern-
ment policies and commercial fifms
in order for such an innovation-
enabling culture to come.abaul.
The one thing that India's in-
novation theorists have not said is
that the absence of a'eulture of in-
novation is intrinsieally linked to
many of the mest intractable prob-
lerns facing India as a nation. These
include poor delivery of government
services. inadequate systems of per-
gonal identification and the absence
of widely available Ainancial servie-
es.for rural poor, health and sani-
tation failures. This list can go on.
Curnutlatively, the inability of India
a= a nation, sociely and economy
1o adequately provide for its own
population no longer reflects a fail-

i ure of implementation, but rather

of a faflure of innovation, for there

| are not immediately-available off-

the-shelf solutions that would make
it possible for these grand challeng-
es facing India to be redressed.
Rather, we need to look at these
intractable problems [rom the more
sophisticated and empowering lens
of inmovation. for them Lo begin (o
be solved.

86. Which of the following depict/
s the growing importance of
innovation in India?
[A)Increased investment in

research.

(B)Initiation of Government
backed funds for innova-
tion

(C)Increase in number of con-
ferences arranged and ar-
ticles written on innova-
tion.

(1) Only (B)

(2) Only (A] and (B)

(3] Only (C)

(4) Only (B and (C)

(5) All (A), (B) and [C)

87. Which of the following best
describes the MLM theory of
innovation?
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(1) Maximise output by using
least number of respurces
and benefiting a small
number of people.

[2) Maximise resource utilisa-
tion and cost thereby ben-
efit maximum number of
people.

(3) Minimise output and re-
source utilisation, yet ben-
efit the maximum number
of people.

{4) Benefit most number of
people through least usage
of resources and maxi-
mum output.

15) Benefit most number of
people through maximum
usage of resources and
minimising cost.

Which of the following is pos-

sibly the most appropriate ti-

tle for the passage?

(1) Innovation At Its Best

{2) India And The Elixir Called
Innovation

(3) Innovation Around The
World vis-a-vis India And
Other Neighbouring Coun-
tries

{4) Worldwide Developments
In Innovation

(5) Innovation - The History

What tone is the author em-

ploying in the entire passage

to get his message across?

[1) Pessimistic

(2) Sarcastic

(3) Urgent

(4] Informative

(5) Dubious

. Why, according to the author,

is India unable to adequately

provide for its people?

(L Failure to implement
schemes and initiatives
meant for the Indian pop-
ulace.

(2) Absence of regulatory au-
thorities to oversee the
implementation process.

(3) Failure to innovate in or-
der to find solutions.

(4) Lack of governmental
schemes and initiatives to

o1.

redress the challenges
faced by India.

(5] Hesitance of the Indian

people in trying out differ- |
ent schemes provided by |

the Government for uplifi-
ment,

Why, according to some peg-

ple, is Jugaad' not the answer

to India’s problems?

(I)Many a times this meth-
odology backfires leading
to further complications.

(2) ‘Jugaad' provides only
cheap solutions to all
problems.

(3} It is reactive and not a pro-
active and organised meth-
od of finding solutions to
problems.

(4] It can provide solutions to
only simple problems and
not complex ones.

(5) None of these

Which of the following is/are

true about the cell phone?

(A} The innovation of the cell
phone required Investment
of huge capital,

(BIThe ecll phone, when in-
vented was meant to be
affordable to all.

(C)The cell phone was made
available to the public in
a very short time from its
ideation.

(1) Only (A)

(2) Only (A) and (B)

(3) Only (B) and (C)

(4) Only (B)

(5) All (A), (B) and (C)

What does the author mean

by ‘frugal impact on the

earth's resources’ as given in
the passage?

(1) The damage to the environ-
ment should be assessable.

{2) More consumption of nat-
ural resources as compared
to manmade ones.

[3) Minimum impact on the
environment in terms of
pollution.

{4) The impact on the environ-
ment should be such that
It is reversible,

(5] Minimum usage of earth's

natural resources.

Directions (94-88) : Choose
the word/group of words which is
most similar in meaning to the
word/ group of words printed in bold

as used in the passage.
84. REDRESSED
(1) addressed
[2} equalised
(3} restored
(4] redone
[5) rearranged
CURRENCY
(1) nates
(31 money
(S¥valye
. INTRINSICALLY
bl internally
(2Fwhole-heartedly
(3) fundamentally
(4) virtually
(5) unavoidably
. INDICATIVE
(1) causative
(2) forthcoming
(3) verbal
(4) abstract
(5] suggestive
COMPROMISING
(1) co-operating with
{2) reducing the quality

95.
(2) usage
{4) cash

o8.

(3) hampering the progress
{4) conciliating in order to
(3] adjustng for the better
Directions (99-100) : Choose
the word/group of words which is
most opposite in meaning to the
word/group of words printed in bold

as used in the passage.
99. LACK
(1) presence
[2) sufficient
(3) charisma
(4) adequacy
(5) dearth
100. INCONCEIVABLE
(1) visible
(2) truthful
(3) incredible
(4) apparent
[5) comnplex
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GENERAL AWARENESS
(With Special Reference
to Banking Industry)

101. Who among the following is
one of the recipients of the
Nobel Peace Prize-2011 7
(1) Ellen Johnson Sirleal
(2} Jules A. Hoffmann
(3) Bruce A, Beutler
(4] Adam G. Riess
[5) Tomas Transtromer
The Food Security Bill-2011
which is in the process of be-
coming an Act, divides the
entire population of the coun-
try inta two groups, Which of
the following are these twe
groups?

(1) Below poverty line ane
Above poverty line

[2) General population and
Excluded population

(3) Included households and
Excluded households

(4} Covered under PDS and
Not Covered under PDS

[5) General houscholds and
priority houscholds

RBI has recently deregulated

Lhe rates of interest (o be pro-

vided by various Banks to

their deposilors/ customers
with effect from 25.10.2011 on
their accounts.

(1) Time Deposit

(2] Saving bank

(3) Loan

(4) Fixed deposit

(3) Current

Which of the following is the

main advantage of "ASBA"

with the applicants for share
allotment?

[1) ASBA applicant has got
scotired allotment of
shares

(2) ASBA applicant has got
certain preference in allot-
ment of shares as com-
pared to general applicants

(3) ASBA applicant need not
remit the fund for allot-
ment of shares, he/she
will do so after shares are
alloited to him/her

(4) ASBA Applicants deposit/
OD account is not debit-
ed. only the funds are

102.

103.

104.

105.

106.

107.

blocked for the same and
he/she continues to avail
interest till the shares are
allotted to him/her

[5) None al these

"Many people die in Deadly

Games in Egvpl” : Was the

news in aimost all major

newspapers in February 2012,

Which of the following state-

ments i3 the correct represen-

Lation of 'Deadly Game’ given

in the headlines?

(1) A riot broke our during a
Football Match in Egvptin
which many people were
killed

(2] Police had to open fire on
a Mob including sorme gen-
uine ticket holders. wha
were not allowed 10 enter
the Stadium even after (e
start of the match

(3) Egypt is famous for its dar
gerous games of Bull

Fight’ and "Martial Game: |

Many participants die ev-
ery year in such games
{4) Some terrorists opened fire

during a football match, |

Abaut 1000 people were |

killed in the incident
(5)The defeat in the game is
" considered equivalent to
death

Mullaperivar Dam which was

recently in news, is located in

which of the following States?

(1) Maharashtra

(2} Karnataka

(3] Andhra Pradesh

(4) Kerala

(5) Tamil Nadu

Like telephone/Mobile num-

ber portability, the Ministry of

Finance /RBI is now also con-

sidering to provide bank ac-

count number portability to
bank customers. Which of the
following would it mean?

(1) Any customer/account
holder can withdraw cash
from any other Bank
through his/her own
cheques drawn on other
bank even without ATM

(2) Any borrower can draw
funds from his/her ioan
account from any other
bank also

(3) The account number of any
account holder will remain
the same even if he/she is
getting his/her account
transferred to another
bank also.

(4) Bank customers would
have the facility of mohile
Banks to withdraw cash
nearby his/her place

(3] None of these

10B. The total pumber of Kisan

| 109.

110.

111.

112.

Credit Card holder farmers in
our country Is

(1] 8 Crores  {2) 10 Crores

(3)8.Crores  (4) 7.5 Crores

5) 6 Crores

NRE deposit is

(1} Non Resident External de-
posit

(2] Non Resident Extra depos-
it

(3] Non Resident Exchange
deposit

[+ Non Refundable External
deposit

(3] Non Resident Extended
deposit

What 18 offshore banking?

[1) 1t ts a bank located in the
sea (l.e. island)

[2) [t 1= a bank located in SEZ
{3) It is a bank located in a
neighbouring country
(4} it 15 a bank located out-

side the country of resi-
dence of the depositor
(5) Offshore banking is basi-
cally dealing in foreign ex-
change
Maoists in which of the fol-
lowing countries recently de-
cided o accept Government's
offer of ‘Golden Handshake'
and enter into ‘clvilian life’ or
mainstream of the society?

[1) Mvanmar (2) India
(3) China (4) Nepal
(3) Bhutan

Which of the following is cor-

rect?

(1) Miterates cannot open any
account in a bank

(2] Hliterate women cannot
open any account in a
hank

12) Miterates can open savings
bank accounts in a bank

(4) Advance can be granted to
a minor
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(5) Advance can be granted to
a minor if he is of sound
mind
113, As per newspaper reports
western countries are going to

the following OPEC countries
as it is said that it is trying 1o
make a nuclear Lomb?

(1) Kuwa’t (2] Irag
(3] Iran

(4) Saudi Arabia

(5) Angola

114, “The Reliance Industries Lid,
{RIL) has decided 1o return
some "KG' ficlds to the Gov-
ernment of India™ was the
news in some major newspa-
pers. What iz the major pro-
duction in KG fields owned by

RIL?
(1) Crude oil (2] Gas
(3] Coal (4} Iron ore

(5) Gold ore and Diamonds
115. Non convertible debentures
are

(1] Debt instruments which
acquire equity status at
the issuers’ optlon.

[2) Debt instruments which
acguire equity status at
the investors option.

(3) Debt instruments which
acquire equity status with

of Companies.

acquire equity slatﬂ,a cnl
maturity.

(5) Debt Instrumenﬁ ‘.ﬂ'nch
retain their debt gharacter
and canng[‘@ccpnre equity
status, ©

116. Indiag Diptka Pallikal and

Sar, well of Australia

rm ¢ played an interna-

_tional match in Chennai.

" Bath of them are

(1) Badminton pla_vcrs

(2) Golf players

(3) Chess players

(4) Squash players

(5) Table tennis players

117. "IRDA norms will boost online
distribution” - was the news
in some major newspapers.

This means online distribu-

tion of which of the following

will boost up 7

impoze sanclions on which of |

the permission of Registrar
=

(4) Debt instruments w;m;h"'

| 118,

119,

120.

(1) Bank products

(2} Insurance policies/prod-
ucts

(3) Licenses to open new
banks/branches of exist-
ing banks

(4) Licenses to operate 2G /3G
Spectrums

[3) Permits for export of iron
ore

‘Lajja’ is a book written by ___

(1) Salman Rushdie

(2] Taslima Nasreen

(3) Sunil Ganguli

(4) Rabindranath Tagore

(5} Bimal Mitra
To prevent frauds in multiple
morigage cases, under

SARFAESI Act, 2002 one spe-
clal thing has been created
and made operative from

01.04.2011. Which one is thats

from the following?

(1) Special Registrar Offigat |

Lucknow

{2) Special Cenugl,ﬂ&:hfh‘,allnn
Bureau at Lueknow

(3) Central SﬂRFﬁﬁ'I Tribu-
nals at 6 Qﬂltfes

(4) Central Electronic Regis-
try
(5)State Electronic Registries

SBI has merged which of the

ﬁq}]tfwing two associate hanks

“uwith itself ?

121.

122,

(1) State Bank of Hyderabad

and State Bank of Pattala

(2} State Bank of Hyderabad
and State Bank of Travan-
core

(3) State Bank of Mysare and
State Bank of Travancore

(4] State Bank of Indore and
State Bank of Hyderabad

(5) State Bank of Indoie and
State Bank of Savrashira

Assembly Elections took place

in which one of ths fotlowing

States recently? {in January

2012)

(1) Madhya Pradesh

{2) Maharashtra

[3) Kerala

(4) Punjab

{5) Tamil Nadu

Which one of the following is

not a salient feature of Debit

Card?

{1} No bad debts to banks and
no suits for recovery

(2] No interest earming for
banks
[3) Works like a normal with-
drawal
(4] Can be used at ATM and
POS
(5) 45 days credit is given lo
the card holder
123. Banks issue a letter to bene-
ficlary on behall of its constit-
uents like guarantee for rmak-
ing payment on llfﬁr behall
on fulfillment offfSterms and
conditions. '!Ef.hﬂ.l_c___iﬂ this ar-
rangement known in banking
context?
(1) Line%] Credit
(2){Loan lo Client
{ﬁ} Loan on Credit
(4] Loan against Credii
Letter of Credit
rm As per Financial Inclusion
drive one of the following
Banks introduced Tiny Cards
with Biometric identifization.
Which of the following is that
Bank?
(1) Central Bank of India
(2) Oriental Bank of Com-
menrce
(3) Indian Bank
(4] State Bank of india
(5) Bank of Maharashtra
World leaders are to assembile
in Rio dv¢ Janeiro in June
2012 for he United Nations
Conferen e on Sustainable
Development {(Rio + 20}, All
nation= gre going lo make
some corimiiment towards
the goal 0" the conference, As
per ihe sgenda circulated,
what corrmitment do worid
leaders want from India
in the Conference ?
i1) India should agree to dou
ble its energy efficiency
under a global under
standing
i2) India should suspend its
nuclear pact with USA or
atleast should reduce it to
50% level of agreed capac-
ity
{3} Nuclear power plants are
highly risky as seen in Ja-
pan recently. Hence no new
plant should be made
{4) India has a vast resource

of coal. It must share its
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coal resources with other [5) Agricultural Sector contrib- (4) President of Australia
countries to enable them utes 20% in India’'s GDP (5) President of Canada
te produce thermal power | 131. Banks are considered as 'fl- | 137, In relation to banking, what
which they are not doing nancial intermediaries’, do you understand by ® Ever-
so far due to lack of coal Which of the following activi- Greening of loan Account”™ ?
mines there ty correctly and comprehen- (1) Full repayment of a loan
(5) None of these sively explains this role of account before maturity -
126. Who among the following is banls? Fre-payment
the recipient of the Padma (1) Accepting deposits of mon- (2} Full repayment of a loan
Vibhushan given in 2012 7 ey for the purpose of lend- account exactly at matu-
(1) Late [Dr.) Bhupen Hazari- ing and invesument rity
ka (2) Granting loans to the (3) Fresh Loan sanctioned
(2) Sri Vanraj Bhatia weaker sections of the so- during the tenure of ac-
(3} Sri Javed Akhtar clety count for enbancement of
(4) Sri Amitabh Bachhan (3) Accepting money for remit- limits
(5) Smt. Ambika Soni tance and issuing bank (4} Adjustingthe NPA / Sticky
127. Under the liberalised scheme drafts account with fresh sanc-
of interest subsidy, Govern- {4) Providing safe deposit ser- tion of loans
ment of India provides inter- vices (5) Loans provided for new
est subsidy on housing loan (5) Opening accounts and ac- projects to new customers
at the rate of __ cepting deposits therein 138. Which of the following is the
(1) 0.50% 132, The rate below which banks name of an aulonomous or-
(2) 1.00% cannot generally lend is called ganisation for rural technol-
(3) 2.00% as _ ogy?
(4) 2.00% + 1.00% for prompt (1) Base rate [1) CAPART  (2) MGNREGA
repayl.ent (2) Floor rate (3) PURA (4] IRDP
(5) None of these (3) Repo rate, (5) NGAPS
128. When a Bank provides a loan (4) Call money rate 138. With a view to facilitate pay-
for purchase of white goods, (5) Ceiling rate ment of balance in deposit
it is calegorised as _ 133. As per the dats released by the aeeount Lo the person named
(1) Consumption loan Union Health Ministry (of In- by the depositor without any
{2) White Goods loan dia) the infant mortalitv rate haszles in the event of death
(3) Consumer Durable loan islowest in ___ of the account holder, the fol-
(4) Working Capital (1) Tamil Nadu lowing factlity was introduced
(5) Bridge Loan (2) Maharashtra in bank accounts in our coun-
129, India has decided to acquire (3] Goa try.
Rafale Fighter planes [or je (4) Uttar Pradesh (1) will
airforce wing. Which country. (5) Madhya Pradesh (2} Registration
is going to supply Rafale fight- | 134. Dada Saheb Phalke Awards (3) Nomination
er planes ? are given by the Ministry of __ (4) Indemnity
(1) Italy {2} Britain (1) Social Welfare (5) Guarantee
(3) Canada _[4) France (2) Corporate Affairs 140. Which of the following coun-
(5) Germany, (3) Home Affairs tries is NOT a member of
130. Which of the following siate- {4) Human Resource Develop- ASEAN 7
ments aboul contribution (ap- ment (1) Thailand  (2) Myanmar
proximalely) of agriculture (5) Inforriation and Broad- (3) Singapore (4) Vietnam
sector in GDP s correci? casting (5) Brazil
(1) Agriculture contributes | 188, Which of the following is mot | 141. Which of the following is not
50% of total GDP a type of Cheque? a Negotiable Instrument?
(2) Agriculture does not con- (1) Crossed cheque (1) Cheque
tribute significantly to In- (2) Blank cheque (2) Fixed Deposit Receipt
dia’s GDP as the share is 13) Speed cheque (3) Promissory Note
less than 1 % (4] Bearer cheque (4) Bill of Exchange
(3) India’s GDP does not take (3) Order cheque (5) All {1) to {4) above are ne-
agricultural sector into | 136. Mr. John Key is the present gotlable-instruments
account (1) Prime Minister of Canada | 142, Which of the following Stock
(4) Agricultural Sector is the (2) Prime Minister of Austra- Exchanges in India recently
part of Service Sector, lia launched “Carbon Index™ so
Hence it is not considered (3) Prime Minister of New that investors can assess risk
as an independent sector Zealand and opportunities assoclated
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123,

4.

145.

146.

147.

148.

115 Chmeld change?

L =27 Siock Exchange

i, Xzugnal Stock Exchange
3} Bombay Steck Exchange
4! Kolkata Stock Exchange
31 Ahmedabad Stoeck Ex-
rhange
Which of the following would
e the venue of the World Ath-
letic Championship 2013 7
(1] New Delhi (2) Tokyo

[3) London (4) Paris

(3) Moscow
Who among the following rep-
resented India in 17th SAARC
Summit held at Addu in
Maldives in November 2011 7
(1] Smil. Sonia Gandhi
(2] Dr. Manmohan Singh
(3) Shri Pranab Mukherjee
(4} Shri P Chidambaram

(5) Shri Rahul Gandhi
Whal is the maximum bal-
ance amount that is eligible
for earning interest in a nor-
mal savings bank account?

{11 1 lac (2) 7 2 lacs
(3) F3lacs  (4) 7 5lacs
(5) Mo limit

When a customér opens a

Depesit account with the
Bank, which one of the fol-
lowing is the status of the
Bank?

(1) Debtor (2} Creditor
(3] Trustee  [4) Beneficlary
(5} None of these

Which of the following states|
decided to give Khatedhar,

Rights to about 30.0004arm-

ers occupying the custodian

lands?

(1) Gujarak (2] Rajasthan

{3) Madhya Pradesh

(4) Uu@rPradesh

(5) Uldrakhand

Which of the [ollowing func-

lions are not being performed

by the Reserve Bank of India?

(1] Repulation of Banks in
Inehin

{2) Regulation ol Forcign Di-
rect Investment in India

(3] Foreign Currency Manage-
ment in India

(4] Control and Supervision of
Money Supply

[3) Currency Management in
India

149, Abank is called as ‘Scheduled

Bank' when ___

{1} 1ts business has crossed
7 1000 crore mark

[2) Its branch network is over
100

(3) It ts included in the sec-
ond Schedule of the RBI
Act

(4) When it complies with all
the three above

(5) Mone of these

Australian Government re-

cently decided to sell Urani-

um to India. Uranium is used

mainly for __

(1] manufacturing of chemi-
cal fertilisers

(2) manufacturing of Drugs/
Pharma products

(3) nuclear power generation

(4) making arsenals

(5) making electronic chips

GECEECECTED)

féw (151-165): "= Fu ™
T ) ST o AT W A
v # Iw A B = i s
% wiem frm ), Fadl st 58 W
F I9 3 dgEE faen

a4 @ 7% T Ay ® = o
1 FE W T A A A wEE T
e, EE w o e gRar ®
3ifaTETEn W WE HH LA §1 FEA
&1 md w0 w0 F A W g ¢ me
Al T 9 T WU OE AR T R
feert oA WEA TN WS OME w
gHitam oM mw
T = WA

dm-dra # g3t w5 =T E
T % WU T OUE W W W #
gy e feel 30 favafasm sRie
T T WA A e e
- w)

we =Y O T W oeYE
¥ -4 SHR-T AE S O e
ag W £, 9 W I

#t win m owl wiym o,
= UF Wi o) e e e T, 8
WG w9y gEwen g §@ ad
# 77 ¥ 58 F o 7w eww 3w
ws T = e, W # e oh
v 1 swER T R -wew
wfwem 4 7o ¢ 5 5=t whel

150.

g FEE o
T gy T e T -
3 9% §, T TF T O U Y
™ w9 WEE W I
TmEl W A wmwA e ®
=, W T 3 wEE W R I faw
4 37 &gl 9 frde Jia % o ded-ue
T4 g3 fofn = fam
151, ¥9Fe SEE  AEEEE FOEH
wt g f-m A d e
‘g’ e w v A Een A @
Fr-T T TEENETS FEF T
#

1)=& (2) TEagt
(3) 3 (4) s
(S SmET

15270 % 7 “aaE a9 wE g
gy T fEw oTed O wm
T §7 T gefen wE -
(1) =it el v @ R
(2) FEr B w  a  gm
o T m d
(3)% = 7w R f g3 wm
T W R
@ g § d§ e @
THa ¥
(5) Tt T F T e T
T @ #
153, f=fefar moin 51 & soh
= W T

(1) Tmnfas (2] HEm
(3) wEH (4) Feu
(5) 3 8 =

154, 7o ¥ g = W fem e o
¥ 30% ¥R, w0 W fave o
wfm # o 3fam T foam €2
(1) F= (2) ssaraTHt
(3) Tt (4) fomamh
(5) 7w E

155. fr=rfefias § § wR-71 WEm0 TEm
§ 7w ‘yqE wiEE" ® R W
waim fem W wEw 7
(l)a= oma (2) = d=
(3 ortt dEm (4) ¥E wEA
(5) T & W =

158, ¥9-¥= ¥ TH 7 T T W 4-
o ¥ v T W R we 8
(1) Fm (2) =
(3) wrefa
(4) motm & Tm T wEm
(5) v & = Tl
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157.78 ™M ¥ WAL ¥ =EAEE
¥ & W f o we
(1) fedht =5 § =2 sfmd €
(2)3 feeft st @ gem &
(3)7F Wi @ T W =
s b
(4) = wffai ¥ owm Aiw B
(5) 7% it T = e Tt
158.“#% i w1 7 gEwen fat-
T % W A H gEemn w
fafen ad =0 %7
(1) ve=m = am ¥ 5 ome ww
T WA T
(2) s & 5 = @ fom @ W
(3) & Ham wt aw ¢ & T
qaen o §
(4) 5= & & 83 W03 e
o
(5) 7= T & 5 w0 = = 9
Fmm
150. 7-"T8 TF wim @9 fEw
Wi # sfwefE w6 2

(1) (2) Hyfe
(3) wEwn {4) S
(5) FmFEm

160, T ¥ T " dhewm " = F =
T W Tm T A e

(1) v (2) B
(3) FmETTE (4) Fefm
(5) frw

161, frafefem # & #H-m TR
vee w ¢ 5 ge g
AWM W G 7
(1)# 70 § T Q@ '
(2) =& T S 2
HEESE

(5) Tl =1 wE FEEn
163, T § YW W TREG—TEiEaE
% dm ¢ fiedd & T O9W WA

=fen?

(1) wmi-=ga (2) TR-w=
(31 mewd (4) B
(5) % s &

[2)9F 7@ ft g3 wwwE W

(3) 3 ¥ g T % e
WA A T

(4) 39 " 7 fem @ fe wn
#

(5) 7 & =

= (1), (2), (3) 3 (4) fowen oy o &

(5) FeiA sETEE T
167. 795 W 92 F 3@ F1 )

(1) (2} TEm
(3) fe=n (4) ==
(5) Fvinm smETTE T
168. 7= T@% % Mg ¥ Wi w43
T, TN @ HoEm o ?
(1) famm = = i
(2) @ ™ ™ v
(3) v
(4) 9§ fm =
(5) FeR wETEw Tl
169, WM & W @ ¥, 99 U §ime
drom |t w5 W
(1)2% it § offmt 7 o
(2) o o v
(3) drerd vzd = o
(4) TR ¥ R, TR T

(5) Hyiee TS T

165, Frefefam o & wH-m 9w

frdw (166-170) : =9 fm ™
TEE YR § TRl W UF 99E W OEE
i W sl A fra T A= E

164. 79% fawa 4 = 70w 9 w- | 170. %@ Wi 5 s ST 6 8
TN F T A ) T § 8 mifam zor & W A
fFQ O ® EEEE W AR 87 (1) zfrm fsm #
()7 & 71 ¢ =T T W (2)wng =Em #

(3) %™ w@ 90w}

(4) = w5 T E

(5) Heie sEvTE T

fw (171-175) : = fu ™

W R TR E G | o 43§ o Am g e e
(1) smqEe (2) 9% T & wE 3w W IR BN
(3) T (4) = e # I F sitwn wifa oo
(5) T ™oy o w, Wi IR w T

(2) %@y, =0 (3) =, =

(4) wewmE, 3 (5) =few,

172, 5 moag et o
T ® A W FR A w0
T T W o
()FmE, = (2) =,
(3) =, 75 (4) M, 3™
|5) ot T

173 3w 7 7 Fuw S s
W Emidm
efari A wmm b

(1) 9, =i
(2) TEwEm, #AiE
(3) =ymfem, witfem
(4) =mifym, i
(5) 7%z, Foit

174 sigEEn®E _ wmadd
N W W § T g 6 e
 wm
(1)cfom, 78 (2) W, ®
(3) T, I (4) =fowm, TeE
(5) =, R =

175, weves e o g g § wemm

F dmmm |, ave e ow
e e - e - o [

(1) viwms, Frerct

(2) =3, T

(3) ==, 9

(4) e, =@

(5) v, v
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v (176 - 180) : 7% frm ™
v v Wy ur 4 =g mn od el
2), (3) # (4) =aiw fom M
=% = TE ¢ 5w % fae o |
=, W, W, W ® e W W
= = 5w A W gf e e
= 5 % Tedl o wm A 6t g 38 A
s A Tm i am Wiﬁmt

= T (5) @R ‘i e

176,50 i A o (1)/ ¥ wW @ W
(2)/ 7@ = w9 ¥0 0 (3)/ A
w41 (4)/ 3w Wm ()

177. 90w & favem w1 (1)) =
e e @ % (2)/ W faw
wt (3)/ 9w R oA ()
Zm e (5)

178,78 W WA ® (1)) TH T
# ga # (2)/ W R w1 (3)/
st =t #1 (4)/ #m @ (5)

179,97 W% 1% W (1)/ WA
w i m (2)/ v w1 g
(3)/ T ffg %1 s 7 1 (4)/
Zm e (5)

180, 9t = % ww (1)/ %@ wm &L
¥ W (2)/ Witen wTA w0 A (3)/
& = g e (4)/ =W e
(5]
fiiw (181-185) : 5= faw M

TF WA U TE s @ oare B o

* ¥ T AR O(1), (2), (3) 3R

FaE gO 98 i T oW i 0

T, ford 4 %1 0w 0 I whE A
T e # wE T wer

2 762 FUF F TN Wy cmar |

#1 am W o ) FOm WA R
T (5) win ‘T # FEL o
181. The purpose.of financial inclu-
stﬂnistuhﬂp theaepmrpcnr
ple. .
[ummﬁm w1 o it =
R w2
(2) nfhs wAdTH W IEE A
i i anfiE we v
(3) farvis T %1 T5574 T T
F TR A B
(4) g W w1l weEm A
9 W A w T TR
(5) 5 & w7 W
182.1 am given this responsibility.
(1) 5% =0 w0 # f5 4§ faorm =)
(2)= &y = aw § ey
o =

(3) 75 o & W= W
(4) 7 THwEiem sm w0 v g
(5) 74 2 = T
183. Report will be placed on the
table of the Loksabha, on 20th
of this month.
(1) s %1 99 W ol w w
FW 20 F T
(2)5 Ww w1 20 wim @
G I T g
(3) 20 @ w= B # TR FO
= faam
(4) FEmT T W W 20 W R
w o wo
(5) ¥ A w A
184.In our country, cheques are
valid for payment for 6
months.
¥ 7 A w e I
beic B i 4
(2) 5% wt 3 o B g WA A
wm A h &
(3) 84 ¥F u: TE & G TEE
w0 ARy
(4) i 39 & 4 W W 7 YA
ﬂifﬂq_‘h’ﬁ 2
(5) TR
185. India and Srilanka are part-
"iimsmthispmjcct
1) s dem W e
iR #
(2) v s dieE w1 i @
w yige w5
(37 g 4 v oA ¢ @
drefm ot i =ma h
(4) sfgran o = 3 § s ol
= e #
(5) 574 & =§ =
frder (186-190) : = fig
v A 4 TE e wm am fmmn #
st z@ A9 (1), (2), (3) & (4) FEE
Ful ol cok ol ok ek oE
Ui F T £ S 9 9 e §
Fr-m 8 fu ™ e o A
3 o woim € ol e I wwE
# I ® F9 4 T d1 @AW oW o
ww W AR @ TW (5) e, s
' W owE
188. 70 79 FH TG W W !
(1) Are you in the Nagpur to-
morrow ?

{2} But you are in Nagpur. to-
morrow 7

(3] Oh! then you are there. in
Magpur ?

(4) Are you going to Nagpur
tomorTow ?

(5) 7 A wr

187. fe=it 9 i @ s e et 1

(1)Now you can gel geod
Books.

(2) Now good books are avail-
able in Hindi also.,

(3) Hindi is alsoa language for
good books.

(4) Goodbooks. are everywhere
in H.I.ngﬁ also.

(5) 743 W

188, F47 BT #9 F ¥ W@ I

(1) Keep typed copy on my ta-

' ble please.

(2} Please type and keep a copy
on my table.

(3) A typed copy be on my la-
ble.

(4) Please typed and ensure
that a copy is on my table
please.

(5) ¥ = = =

189, 7= F1 T O TR &, W@ WA

)

(1) My Luggage is checked, let
it go now,

[2) Please check my baggage
and allow me.

[3) My luggage is checked, let
me go.

(4) Can | go now alter you
checked baggage ?

(5) 77 | wr

180.7% 13 & I L 0w g

{1} He is to live here for three
vears.

(2) This city wanted him for
three years.

(3) His stay in the city s at
least for three years.

(4) Three years are cmugh for
him to stay.

(5) 7 & i e

fadw (191-200) : 4 fw ™

itz ¥ e frem v g fog g € A
7% W wew # T T # 4 s
ofs & 4 g €, o vEw & e
(1), (2), (3). (4) = (5) FeFem fm T
fimod § 3w W fm am s
T i & wed d Iwm En q W W
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im &1 s Tw fawes 7w w2, o
oW FOE T F ww o wmim B
! frn T faedl § @ wEE IwgE W
T = #

qIEE & wE o A g s
TH % TEW W WM W afmeeE w1 aon
wvias a5 @ W T
FE T W uE wfEA H@ye wiww w1 g
# (191) # #fE= wm = (192)
w8 T wE § fF = o= owaem
w=E |F T9 9Ed B F9- wEE, Jide,
fomTs, W s W A W R
(193) ¥R WA F - s sy =
WA o - G (194) ¥ a0 ¥ W
A 9W FF T S9-TEF- T0E F
TR W TR w4 % A g v o
o2 d agn w¥ & W (195) Fw d
wwmow f o owE F feeww 3
‘Tl o e W o v fem g
T H e, WA, W o wEm W
HA-9% T F| TAF 30 9@ 2 W
% (196) w3 ¥ vo-w9 § 7w ¥
for=f e o o v e A (197) T
i 3 aEE S, W i frofr
e H W R w I WA A
s fom A, @3 wm A fE fE
e qwe W oTem-fem ¥ 8w A
afFy w1 T v favew £, W™ oW
fm-vft =w & wfm, fmse ®
fag [198) wfa-wd =g * w=iE
Tl % WP AW USE % oW wep,
Hur, S S -1 F 50 (109)
s frar o, st sv-are v 4 2
TR wE-TE-TE R [200) 3R OF

eI B

191. (1) wfew f2) witom
(3) % (4y =
(5) Tram

192. (1) 7 (2) ==vmE
(3) WA (4) faweq
(5) s

193, (1) FEm (2) =vm o
[3) TaT (4] fawim
(5) Ty

194, (1) Tt (2) wom
(3) Tt (4) s
(5) =y

195. (1) sm=e (2) wfromm
(3} #vE (4) =R
(5) A

196. (1) wiEm (2) T=wm
(3) =fm (4) Traw
(5) %W

197.(1) firdt (2) fidh
(3) 7Eit (4) et
(5) #&

198. (1) faem [2) Wi
(3) sEfem {4) FHEm
[5) =amd

199, (1) fAfem (2) HHE-Fewm
(3) =fifam (4) s
(5) s

200. (1) T (2) =&

(:3) =T {4) o
(5] 5rm
ANSWERS
L@ 2.4 | 8.2 4.1
B. (1) 6. (4) 7.5 83
9.3 10.(3) | 1L.(3] 12,4
12. (4| 14.13)| 15.(3)] 16.1%
17. (1) 18.(3 | 18.12)] 20.(5)
21.(2)| 22.4) [28.12)| 24. (5)
25. (3| 26.15) | 27.(3)| 28, (1)
28, [4)| 30.(9) | 31 (4] 32, (5)
33, (5| 34.(2) | 25.(1)] 36.(1)
37.(1) | 38.(3) | 39.(2)] 40.(5)
41. 3] 42.(3) | 43.11)] 44. (2)
45.(2)| 46.(5) | 47.(4)] 48.(1)
29. (1) S0.(4) | SL.(4| 52, (2)
B3.(1)| 54.(2) | B5.(4)| 56.(5)
57.(1)| 58.(3| 59.(5)| 60. (3
6l.(5)| 62.15) | 63. (3| 4. (2)
e5.(5)| 66.(2) | 67.(2)| B88.(1)
69.(1)| 70.(1)| 7112 72.(5)
73.(1)| 74.03) | 75.04)| 76. (@)
TT3 | 7800 | 7.3 80, (3)
Bl.4)| B82.(3) | 83.(5)| 84.(2)
B5.(5)| 86.(5) | &7.14)| 88.(2)
89.(2)| 90.13)| 91.3)] 92. @
83. (5] | 94.(1) | 95. (2} 98 (3}
97.(5) | 98.(2) | 99.(4)|100. [4)

101. (1) | 102. (5) | 108. (2)| 104. (4)

105. (1) | 106. (4) | 107. (3} | 108. [2)

109. (1] | 110, (5) | 111, [4)] 112, [3)

113. (3) [ 114. (1) [115. (5)| 116. [4)

117. (2 [ 118.(2) [ 119. [4)| 120. ()

121. (4] | 122, (5) | 123, (5} ] 124, [4)

125. (1) | 126. (1) | 127. (2)| 128, (3}

129. (4) | 130, (5) |131. (1)|132. (1)

133. (3) | 134. (5) | 135. (3)| 136. (3)

137. (4) | 138. (1) [139. (3| 140. (5]

141. (5] | 142.(3) | 143. (5| 144. (7

145. (5
148, 1)
1583, (2)
157. (1)
161. (3]
165. (1}
168, [2)
173. (3}
177. (2}
181. (3}
185, (1)
189, (3]
193, (1)
197. 3

146. (1)
150. (3]
154. (4]
158. (4]
162. (2]
166. (3]
170. (2]
174. (2}
178. (4]
182. (5]
186. (4]
190. (1]
184. (1}

198. (1}

147. (2)
151. (3]
135. (1)
159. (1)
183. (2)
167, (2)
171. 15)
175. (1)
179. (2]
183, (2]
187. (2]
191 (3)
195. |5)
199. (3

148. (2]
152. (4]
156. (3]
160. (5)
164. (3]
168. (5)
172. (4)
1786. (5]
180. (1)
184. [4)
188. (1)
192. (2)
196. (2]
200. (4]

1

EXPLANETIONS

1. 13

TEAMWORK-—NBFUJQNY
A A

Similarly.

PERSON—S5FOM

Ll l|

=1

2. 14)
19921 2 1920 | 143 &
5 U BT A W& E
3.02) 1 2

4156|789
3 T|E[ADIFIA[S]T

Meaningful Word = DATE
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4. (1)

== O

— A P
¥ - L3N
* =0 £ R

(=Tl - 3

_§

— F =

=] D W e
L4 IR NS+

5.

0 @ =P

=]

42 -4
6. (4) T—E—w=—R

et

6—2 p. Ly
J -2 1 +4 K

Nini;}*

7. (9]

Number or
Symbaol
Such combinations are :

MS#;; U54l; 168 | .
:

El [2]
T—E 98 ;. *6

Letter | Number

]—-u-iF—}ﬁ—*'E-r

9, (3)
| Number | S:rmbu‘b_] I.;etl:r |
Such cnm‘_ntg#biuns are

(57R];: [&271)

10. (5) 7th te-the left of 20th from
the left end means 13th from
the left end, i.e., F.
11. (5) From both the statements
PW>T>M=>R
12. (4] From both the statements

YO[IEGHE—}FE Esa
he [will be]there — ja da

13. (4) From statement |
It is not given, the brother of
Sushant visited Chennai on
which day.

From statement I1
Sushant visited Chennai on
Monday, Tuesday. Thursday,
Saturday or Sunday.

14. (3) From statement |

Stariing Polnt Nosth
20m West East
South
E
=]
{251
3
20m

From statement [1

0 m Slﬂl'gl'lg Point

i

20 m

),

30 m

15. (5) From both the statéments
Zand Pare statmqu’D and K,
K is brother af’.;
(16 - 20) :

H=>

;g:m
==

1614/ RéJ = R>J
= JED=J=D
DE@aK=D=K
K% T=K<T
Therefore, R>J>D=K<T
Conclusions :
I. T#D=T>D:Not True
. T@D=T=D:Not True
Either 1 or 1l is true.
IN.LR#K=R=>K: True
V.JST=J>T: Not True
17. (1) T% R=T=<R
REM=R>M
MED=M=D
D@&H=D<H
Therefore, T R2M=D<H
Conclusions ;
. D%WR=D<R:True
II. H# R=H> R : Not True
ML.TOM=T<M: Not True
IV.T% D= Te<D: Not True
18. AIM@EBE=M=B
BéN=B>N
NSR=NzR

REK=R<K
Therefore, M=B>N2R<K
Conclusions :
I. K#B=K>B!:Not True
. REB=R<B: True
N.MSRE=MzR: Not True
W.NOM=N<M:True
[2IF#FH=F>H
H&@M=H=M
MEE=M<E
ES8J=EzJ =
Therefore, F > H = m:E zd
Conclusions : g
L. J@MmJ-:«;. : Not True
Il. E&4H :EuEf;,'- + True
ILM® F ="M < F : True
WF#E:} F>E: Not True
_[ﬁfDHﬁﬁ =D<A
WA2B=A=B
"BOK=B<K
E%M=K<M
Therefore, DsA=B<K=<M
Conclusions :
I. BED=Bz>D:True
II. K#A=K=>A:True
MM#B=M=>B:True
WNADM=A<M:True
(21 - 25) : From the given input
and wvarious steps of
rearrangement it is evident
that in the first step one
number is rearranged and in
the next step one word is
rearranged. These two steps
are continued alternately till
all the numbers get arranged
in ascending order and the
words get arranged in reverse
alphabetical order,
21, (2
Input : 86 open shut door 31 49
always 45
StepI: 31 86 open shut door 49
always 45
: 31 shut 86 open door 49
always 45
Step Il: 31 shut 45 86 open door
49 always
Step IV: 31 shut 45 open 86 door
49 always
Step V : 31 shut 45 open 49 86
door always
StepV1: 31 shut 45 open 49 door
86 always
2Z. (4) It is not possible to
determine the Input from any
given step.

19.

Step 1l
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23. (2) (31-35): 42, [3) The following changes occur
Step 11 : 18win 71 34 now ifvictory | | frend | Sex |Car |Destination in the subsequent figures :
61 A |Femak| Z |Aga (1) to (2) {2) to (3)
Step [II: 18win 34 71 nowifvictory | 5 Maie | ¥ | Chandigarh (3) to (4) (4) to (5)
) ¢ | [ e 7 |V Chandigarh 15} 1o (6)
Step IV: éf win 34 victory 71 now i D |Female| X | Delhi : —
Delhi
Step V : 18 win 34 victory 61 71 ? F:EE va D /_4
now if
. Chandigarh e
Step V1: 18 win 34 victory 61 now o T = Selhy T/
TLif \z__ |
24 ‘5} H Male z .nga —9
; |

Input : where 47 59 12 are they | 31, (4)The sex of C and Eis not | 43, (1] The I'r:llicw.ingg r:hanp,cs

going 39 known. occur infthe Subsequent

Step1: 12 where 47 59 are they | 32 (5) None of the combinations figuses :

going 39 is true. (1) o) ¢ (2) to (3)

Step I1: 12 where39 47 59arethey | g3, (5)Four of them may be (3 Ty (4] to (5)

: going - travelling in Car X 1;5}*153’[53
Steb HE: é;‘:;‘magmq' 47 59are | 54 (9)Cis travelling in Car ¥. | _ 4
5. (1) The passengers of Car Y are (ol a—>s  ®
~ 7 s o
ep ég ;‘;ﬁm NS ey &7 guing travelling to Chandigarh. G T
36. (1) Option (1] may be a probable. | | .
25. (3]
Step I : 33 store 81 75 full of goods rﬂ*“g:méf'; de;:,;? +5"5‘f—“ '>r l
52 o ¥ si—w

Step I11; 33 store 52 81 75 full of | 37. (1) Option (1) W_'{E a best —

goods possible reason. 44. (2)In the subsequent figures

Step IV: 33 store 52 of 81 75 full | 38. [3] Option f.‘;‘im:."bea possible the circle moves respectively

goods | action, one and a hall and one step in

StepV : 33 store 52 of 75 81 full | 39. (2) opqﬁ m may be a follow anticlockwise  direction

goods as(ire, alternately while the arrow

-] =]

Step V1: 33 store 52 of 75 goods 81 | 40s(5)Option (5) would weaken rotates through 1357 and 90
Full . the findings of the study. clockwise alternately.

(26~ 30) : | 41.%5) The following - 45. (2) In each subsequent figure

¥ ol Pl 2 _ four arrows are inverled in a

Candi- Conditions inthe subsequent figures : set order.

date | (01 or (a] () (iv) urﬂ% v (1) to (2) (2) to (3) 46. (5) The following changes occur

Rita |/]/ | =] |4 /M NE (5) to (6) in the subsequent figures

Ashok |« & | —| #™ -— ] = (1) to (2) (2] to (3)

Aok x| /| [/ 1A=V /'\ f—*'\l‘: (3) to (4) 4) to (5)

Swapan| +| —| Jill ¥ | — | ¥ 5] to (6]

Seema ||/ = |/ | —| 7 . »

26. (5) mﬁlﬂmt satisfies all the / \/ N se—ui—so| |20 »
co 5. Therefore, she ﬂt—l L) » ,L / ‘\ \
w‘@nl&bc selected. T _a—3 o ei—a

27. (M Ashok Pradhan satisfies (3] to (4) (4] to (5) T\
conditions (il. (i), (i), (b) and A = s

[v). Therefore, his case would sl _e—>e el o Ne
be referred to President — HR. /" l /

’ le
28. (1) Alok Verma does not satisfy 47, (4) From Problem Figure (1) to

condition [i) " . (2) the two designs from the
' left move Lo the right and the

249, Ghosh isfies !\ / .\

' iﬂnﬁﬁ?ﬁ%ﬂﬂ, Iaistiki]??itrfand N o| | en n:_-l' lWO.ﬂesiEnﬂ from the right
[v}. Therefore, his case would move to the left. From
be referred to GM-HR. Problem Figure (2] to (3) all the

30. [5)Seema Behl satisfies four designs arcfim'erted and
cenditions (i), (i), (i), {iv) and the two designs from the right
{v). Therefore, she would be and left interchange positions.
selected. From Problem Figure (3] to (4)
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the two designs from the lefl
are inverted and the third
design from the lefl moves to
the extreme lell position.
These three steps are
continued in the subsequent
figures in the same order.

48. (1) In each subsequent figure

two pairs of designs remain at |

their positions while other

designs interchange positions |
| 80
49. (1) The [ollowing changes ccour |
¢+ 81

with their adjacent designs,

in the subsequent figures :

(1) to (2] (2) 1o (3]
{3) to (4] (4) to (3]
(5) to (8]

] L] o—>a []

g

e— W e

50. (4) In the subsequent figures
the asterisk moves one and
one and a half step(s} in clock-
wise direction alternately. the
design (T rotates through 90°
and 135° clockwise alternate-
ly while the design (§) rotates
45° and 90° anticlockwise al-
ternately.

(2) Facts speak louder than
words means : truth is stron=
ger than invented story.

=1

67. (2) Kill the goose that lays the

golden egg means : Lo destroy
something that would make
you rich, successful etc.
(1) Don't count your chick-
ens before they are hatched
means: you should not be too
confident that something will
be suecessful because some-
thing may still go wrong,

71. (2} Here, the popular show will
end/ended i.e. Past Simple/
Future Indefinile .... should be
used.

73. (1] Here, Showing/sharing
crime statistics for ... should
be used.

74. (3) Here, foolprints on its sur-
face would ... should be used.

75. (4)Here, made him wait and
... should be used.

70

8z

76. (4) Here, of a strong product
pipeline .... should be used.

77. (3] Here, been apprehended
and is .... should be used.

78. (1] Here, the rose growers in

... should be used as growers

(Flural) is followed by a prepo-

sition.

i3] Here, when three different

«... should be used

[3) Here, the growth that had

followed .... should be used

(4) Here, the ear that gets dam-

aged with age .... should be

used

{3} Here, the prevention of

untimely deaths .... should be

used

(2) Here, police team was giv-

en the photograph .... should

be used

84, (1) The word Redress (Verb)
means : to correct something
that is unfair or wrong: put
right; address,

95. (2] The word Currency (Noun)

means : the fact that some-

thing isused or accepted by a

lot of people; usage.

(3] The word Intrinsically (Ad-

wverb) means : really: funda-

mentally: basically.

87. (5) The word Indicative (Ad-
jective) means : showing or
suggesting something: sugges-
Live,

98, (2] The word Compromise

(Verb) means : reducing the

quality; to do something that

does not reach the standard.

(41 The word Lack (Noun)

means : dearth, the state of

not having excess of some-
thing.

Its antonym sould be adequoa-

79

84

8

g

cy.

100.(4) The word Inconceivable
(Adjective) means : impossi-
ble to imagine or believe: un-
thinkable; incredible.

Its antonym should be appar-
ent.

101.{1) Liberian President Ellen
Johnson Sirleal, Africa’s first
elected woman President, her
campatriot, peace activist Ley-
mah Gbowee and Tawakul

Karman of Yemen. received
Nobel Peace Prize on Decem-
ber 10,2011,

102.(5) The Food Security Bill-
2011 tabled in the Lok Sabha
on December 22, 2011, divides
the entire population of the
country into two groups : Gen-
eral Households and Priority
Households.

103, (2) The Reserve Bank of India
in its Second Quarter Review
of Monetary Poligy for2011-12
on October 25,201 1. deregu-
lated the Savings bank depos-
it interest rate with immedi-
ate effect.

104. (4} ASBA: Applications Sup-
poried By Blocked Amount

108.{i) A blood bath at a football
stadium in the Egyptian city
of Port Said triggered cascad-
ing prutest against ruling mil-
itary authorities on February
2.2012,

108. (4) Mullaperiyar Dam in Kera-
la is under Tamil Nadu con-
trol for 999 years under an
agreement between the Brilish
and erstwhile Travancore roy-
al family.

107.{3) Bank account number
portability means the account
number of any account holder
will remain the same even if
hefshe is getling his/her ac-
count transferred to another
bank.

108, (2) There are 10 crores Kisan
Credit card holder farmers
against 4.82 crore farm loan
accounts.

109. (1) NRE : Non-Resident Exter-
nal

110.(5) Offshore banking refers o
the international banking
business involving non-resi-
dent foreign currency denoted
assets and labilities,

111.(4] The political parties of Ne-
pal an November 1, 2011 agreed
to integrate, some Maoist com-
batants into the Nepal Army
and provide rehabilitation and
cash packages Lo the rest.

112. (3) llliterates can open savings
bank accounts in a bank.

113.(3] Iran is facing the threat of
sanctions for its nuclear pro-

gramme.
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114.'!) Kaverl-Godavari fields give
crude oil,

115, '3) Non-convertible debentures
are such debt instruments
which retain their debt char-
acter and cannot acquire eq-
uity status.

116, (4) Dipika Pallikal and Sarah
Cardwell are squash players.
Egypt scripted a 2-1 win over
India in the final of the SDAT-
WSF Under-21 Wold Cup
Squash in Chennai on Febru-
ary 5.2012.

117. (2} IRDA (Insurance Regulatory
Development Authority) is re-
lated to insurance sector,

118. (2) Taslima Nasreen is the au-
thor of 'Lajja’ (Shame). Bang-
ladeshi author, Ms. Nasreen
lives in exile under state pro-
tection in India. In 1993, ‘Laj-
ja'was banned in Bangladesh.

119. (4) Central Electronic Registry.

120. (5) On August 3, 2011 the Gov-
ernment cleared the proposal
for merger of State Bank of
Hyderabad and State Bank of
Patiala with State Bank of In-
dia itself, State Bank of Sau-
rashtra was merged on Sep-
tember 13, 2008 and that of
State Bank of Indore in 2011
with State Bank of India.

121.(4] Assembly clections took
place in Punjab on January 30,
2012 for the 117 seats. o

122. (5) No credit is given to ,mlju.-

F 2

card holder,

123.(5) Letter of creditis 2 methy
of payment widely d in the
finance of forgign trade, where
one bank a offzes another
bank make a pay-
me

i,;spe'cifi* person, Let-

%ﬁit are not negotia-

te Bank of India on No-

mber 13, 2006 launched
eountry's first Tiny Cards with
Biometric Identifications in
Aizwal, Mizoram.

125.(1) The United Nations Con-
ference on Sustainable Devel-
opment [Rio+20) will be held
in Rie de Janeiro from June
20 to 22, 2012.

1286. (1) Padma Vibhushan award-
ees in 2012 are : KG Subra-
manyan, Mario Je Mirandd, |

Les

Dr. Bhupen Hazarika, Dr. Kan-
timal Hastimal and TV
Rajeswar.

127.(2) Government of India pro-
vides interest subsidy on
housing loan at the rate of 1
per cent. On October 25, 2011
the Government raised the
housing lean ceiling for avail-
ing 1 percent subsidy to Rs. 15
lakh from existing Rs. 10 lakh.

128, (3) A loan for purchase of white
goods is categorised as Con-
sumer Durable loan.

129, (4] India on January 31, 2012
selected the French Fighter
Rafale over the Eurofighter
Typhoon in a multi-billion
dollar contract for the supply
of 126 Medium Mulii-Role
Combat Aircraft (MMRCA)-the
country s largest defence dtgﬁs

to date (Rs. 54,000 crore).~ ,_x. o

130. (5) Agriculture sector
uted 19.1 pen:n:ru Lcﬁ‘[legl‘iﬁjaagd
GDPin 2011. )

131.(1) Financial in : hmarc
institutions whieh hold mon-
ey balances of, @ ‘which bor-

row frnqw!mﬂuals and an-
ulhenqﬂgm‘flum in order Lo
s or other invest-

Iaaf 63}1,55': rate is the rate of in-

_“erest which forms the basis
» % of the charges for bank loans
and overdrafts or deposit rate
of the commercial banks. On
September 9, 2011, the Re-
serve Bank of India allowed
banks to lend below the base
rate to tribals, disabled etc.
133, (3) According to the latest Sam-
ple Registration System data
released by the Union Health
Ministry in January 2012, the
infant mortality rate in 2010
in Tamil Nadu was 24, Maha-
rashira 28, Goa 10, Uttar
Pradesh 61 and that in
Madhya Pradesh was 62.
134.(5) Dada Saheb Phalke Award
is given by the Ministry of In-
formation and Broadcasting. It
was instituted in 1969,
135. [3) Speed cheque is not a type
of cheque.
136. (3) Mr. John key is the present

137.(4) Loan account is any ac-
count, such as a bank over-
drafl facility, that is funded by
a loan.

138.(1) CAPART : Council for Ad-
vancement of People's Action
and Rural Technology.

139. (3] Nomination facility is avail-
able with the bank accounts.

140.[5) The members of ASEAN
are: Indonesia, M ia, the
Philippines, Em;%and
Thailand. Erunei%g it in
1984 and Viet ame the

ML 0N July 28,

and Myanmar
joine g it 97,

141. [5! t,'l.ﬁ:;le instrument is an

t can be transferred
er to settle debts, Exam-
=\=- es of negotiable instruments

. “Jare Bill of Exchange, Bearer

“_ Bonds, Promissory Notes and

! Bank Notes.

142. (3) On February 22, 2012 Bom-
bay Stock Exchange (BSE)
launched “Carbon Index”, In-
dia's first environmental
friendly equity index-BSE
Greenex.

143. (5] The World Athletic Cham-
pionship 2013 will be held in
Moscow, Russia

144. (2) Prime Minister Dr, Manmao-
han Singh represented India in
the 17th SAARC Summit held
at Addu in Maldives on No-
vember 10-11, 2011. He gave a
call to the member states of
SAARC to intensify trade with
each other in order to beat the
global slowdown.

145. (5) There is no such limit.

146. (1) Bank is debtor and custom-
er is creditor

147.(2) The Government of Rajast-
han on November 29, 2011 de-
cides o give Khatedhari Rights
to about 30,000 farmers ocou-
pving the custodian lands.

148. (2] Regulation of Foreign Di-
rect Investment in India is not
a funetion of the Reserve Bank
of India.

149. [3) Scheduled Banks in India
constitute those banks which
have been included in the sec-
ond schedule of Reserve Bank
of India [RBI) Act, 1934,

-

' 4

Prime Minister of New
Lealand.

150, (3) Uranium is used mainly for
nuclear power generation.
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